ROMANIAN MATHEMATICAL MAGAZINE

In AABC the following relationship holds:

htBtChtCtAhtAt > 63
a(an2+ an2)+ b(an2+ an2)+ (anz-l— anz) 3r

Proposed by Zaza Mzhavanadze-Georgia
Solution by Daniel Sitaru-Romania

h(t B+t C>+h (t C+t A)+h(t A+t B)—
a an2 an2 b an2 an2 c an2 an2 =
B+C
B C sm( 5 )
=Zha<tanf+tani) =Zha'3—c=
aY: e cos - cos;
cosz AM-GM B 1
= ZFZ— > 2F-3 1_[ =
acos cosc abc cos?
cyc cyc 2

_er 4R_6 31_6 3|53
- 4RF s —OT rs2 T
MITRINOVIC 3’
S 3\/_ 3r ,
= 6r- \/; 6r = 6V3r

Equality holds for a=b=c.




